<0,59 m

0,0

/a—.\ 0,53-0,63m
e y

\

\ 5
@Zg<

=

NR|NAME/DIMENSION ARTNR | QTY

1 |670x670x15 mm 8002990 1

2 |@50x1100 mm 8002992 1

3 620x160x200 mm 8001374 1

4 |CAP 6 @6,5x21 mm 261800 3

5 [M6M A2 M6 mm 324101 3 HAGS ﬂ%ggssg\gEDEN
6 |FZB ©6,4x14x1,5 mm 326016 3 739
7 |M6M-8 FZB M10 324103 4

8 |SRB 10,5x28x3 mm 326003 4 Flower + 1 Petal

9 |Clamp 51 mm 261841 2 159 611

10 |Loop 51 261839 2 1(2)

11 [MVBF M6x30 mm 304553 3

12 |COVER 6 ©13,8x7 mm 261801 3 TJ |9®>[ToB| 2017-12-21 |4




Z
X

Description MA Item Number | QTY
1 |640x500x15 mm 8002991 1
2 |@50x1100 mm 8002992 2
3 [620x160x200 mm 14100004 2
4 [200x76x2 mm 712862 2
8005951
5 |Cap 6 @6,5x21 mm (261800) 6
6 |Lock Nut M6 324101 6
8 |FZB @6 4x14x1,5 mm 326016 6
9 |M6M-8 M10 8008796 8
8008832 ANEBY, SWEDEN
10 |@10,5x28x3 mm (326003) 8 HA( : S 1;1365%)380—
11 |Clamp 52 mm 261841 4 nags.eom
12 |Loop 51 261839 4 Flower + 1 Petal
13 [IMVBF M6x30 mm 304553 6 159 611
14 |DURO PT M6x16 FZY 312234 12 ] 2(2)
15 |Cover M6, @15x10mm 8005952 6 TJ [S®>[ToB[2017-12-21 [4

(261801)




	Sheet1
	Drawing View3
	Drawing View4
	Detail View A (1 : 5)
	Drawing View6
	Drawing View22
	Detail View M (1 : 2)
	Drawing View25

	Sheet2
	Drawing View8
	Drawing View9
	Detail View E (1 : 5)
	Detail View L (1 : 2)
	Drawing View26
	Detail View O (1 : 3)


